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¥ÙéÖæ»-·¤ (ÖõçÌ·¤è çß™ææÙ)

v °·¤ ßSÌé Âë‰ßè ·Ô¤ ¿æÚUô´ ¥ôÚU  »çÌ âð »ôÜæ·¤æÚU ¿R¤ ×ð´ Âë‰ßè 
·¤è ç˜æ’Øæ ·Ô¤ ÕÚUæÕÚU ª¤´¿æ§ü ÂÚU ÂçÚUR¤×æ ·¤ÚU ÚUãè ãñÐ ßSÌé ·¤ô 
¥¿æÙ·¤ ÚUô·¤ ÎðÙð ÂÚU ßã ç·¤â »çÌ âð Âë‰ßè âð ÅU·¤ÚUæ°»è Ð

·¤.  2V1

¹¤.  0.707 V1

»¤.  1.414 V1

ƒæ¤.  0.5 V1

w ØçÎ ÌÚUÜ ÂÎæÍü ·Ô¤ ãÚU ·¤‡æ ·¤æ ¥çÙØç×Ì Âýßæã ãñ, Ìô Âýßæã ·¤ô 
·¤ãæ Áæ°»æ

·¤.  ÂÅUÜèØ Âýßæã
¹¤.  ¥àææ´Ì Âýßæã
»¤.  ÌÚUÜ Âýßæã
ƒæ¤.  ·¤ ¥õÚU ¹ ÎôÙô´

x ª¤Áæü ·¤è °â¥æ§ü §·¤æ§ü çÙ�Ù ×ð´ ç·¤â §·¤æ§ü ·Ô¤ M¤Â ×ð´ ãè ãñ

·¤.  ÎÕæß
¹¤.  ·¤æØü
»¤.  ÌæÂ×æÙ
ƒæ¤.  ßð»

y ØçÎ ÌèÙ x® µF â´ÏæçÚU˜æ Capcitors) Ÿæë´¹Üæ ×ð´ ÁéÇ¸ð ãé° ãñ´ Ìô 
àæéh ÏæçÚUÌæ/â×æ§ü) capacitance ãô»è

·¤.  v® µF

¹¤.  {® µF

»¤.  ~® µF

ƒæ¤.  z® µF

z °·¤ ×éQ¤ ÂýôÅUæòÙ (mp = 1.007825 U) °·¤ ‹ØêÅþæòÙ (mn = 

1.008665 U) ·¤ô Â·¤Ç¸UÌæ ãñ ¥õÚU °·¤ ÇKêÅUðçÚUØ× (md = 

2.014102 U) ÕÙæÌæ ãñÐ çÙ�Ù ×ð´ âð ·¤õÙ âæ ÇKêÅUðçÚUØ× ·Ô¤ 
â´ãçÌ ·Ô¤ ÕæÚUð ×ð´ â¿ ãñ?

·¤.  1.007825 U + 1.008662 U âð ·¤×
¹¤.  1.007825 U + 1.008662 U âð ¥çÏ·¤
»¤.  1.007825 U - 1.008662 U âð ·¤×
ƒæ¤.  1.007825 U + 1.008662 U ·ð¤ ÕÚUæÕÚU

{ çÙ�Ù ×ð´ âð ·¤õÙ ©”ßÜ »×èü  ·Ô¤ âÕâð çÙ·¤ÅU ãñÐ

·¤.  °€Uâ.ÚUð
¹¤.  ÂÚUæÕñ»Ùè Âý·¤æàæ
»¤.  ¥ßÚUQ¤ Âý·¤æàæ
ƒæ¤.  ÂèÜè Âý·¤æàæ

V1

SECTION-A (PHYSICS)

1 A body is orbiting in a circular orbit with speed 
V  round the earth at a height above the 1

surface equal to the radius of the earth. If the 
body is stopped suddenly in its orbit and 
allowed to move freely, then it hits the surface 
of earth with the speed

a.  2V1                                                   
b.  0.707 V1 
c.  1.414 V1
d.  0.5 V1

2 If every particle of fluid has irregular flow, then 
flow is said to be

a.  laminar flow
b.  turbulent flow
c.  fluid flow
d.  both a and b

3 SI unit of energy is same as the unit of

a.  Pressure
b.  Work
c.  Temperature
d.  Velocity

4 If three 30 µF capacitors are connected in 
series, the net capacitance is 

a.  10 µF 
b.  60 µF 
c.  90 µF 
d.  50 µF

5 A free proton (mp = 1.007825 U) captures a 
neutron (mn = 1.008665 U) and forms a 
deuterium (md = 2.014102 U). Which of the 
following is true about the mass of deuterium?

a.  Less than 1.007825 U + 1.008662 U
b.  Greater than 1.007825 U + 1.008662 U
c.  Less than 1.007825 U - 1.008662 U
d.  It is equal to 1.007825 U + 1.008662 U

6 The one that is most closely related to radiant 
heat is ..............?

a.  x-rays
b.  ultraviolet light
c.  infra-red light
d.  yellow light

2.



7 The average binding energy per  is 
about 

a.  8 BeV 
b.  8 keV 
c.  8 MeV 
d.  8 eV

8 Which formula represents Newton's 2nd law?

a.  S = d/t
b.  V = d/t
c.  F = ma
d.  F = mt

9 Physics is branch of science name PHYSICS 
means

a.  matter
b.  nature
c.  material
d.  galaxy

10 Output of a car is 6400 J and its efficiency is 
50%, input energy provided to car is

a.  25600 J
b.  3200 J
c.  12800 J
d.  500 J

11 The full form of LCAO in quantum mechanics 
is
a.  linear computation of atomic orbitals
b.  lowest concentrated atomic orbitals
c.  linear combination of atomic orbitals
d.  lowest combination of atomic orbitals

12 A box with a mass of 8 kg is lifted to height of 
12 m. What is the work done by external 
force?
a.  960 J 
b.  -960 J 
c.  zero 
d.  120 J 

nucleon

3.

| ÂýˆØð·¤ ‹Øêç€UÜ¥ôÙ   ·¤è ¥õâÌ Õ´ÏÙ ª¤Áæü €UØæ ãñÐ

·¤.  8 BeV

¹¤.  8 keV

»¤.  8 MeV

ƒæ¤.  8 eV

} ·¤õÙ âæ È¤æ×êüÜæ ‹ØêÅUÙ ·Ô¤ ÎêâÚUð çâhæ‹Ì ·¤æ ÂýçÌçÙçÏˆß ·¤ÚUÌæ 
ãñ?

·¤.  S = d/t

¹¤.  V = d/t

»¤.  F = ma

ƒæ¤.  F = mt

~ ÖõçÌ·¤è çß™ææÙ, çß™ææÙ ·¤è °·¤ àææ¹æ ãñ çÁâ ×ð´ ÖõçÌ·¤è ·¤æ ×ÌÜÕ 
ãñ

·¤.  ÂÎæÍü
¹¤.  Âý·¤ëçÌ
»¤.  âæ×»ýè
ƒæ¤.  ¥æ·¤æàæ»´»æ

v® ØçÎ °·¤ ·¤æÚU ·¤æ ©ˆÂæÎÙ {y®® J ¥õÚU ÿæ×Ìæ z®' ãô Ìô ·¤æÚU ·Ô¤ 
çÜ° ÂýÎæÙ ·¤è §ÙÂéÅU ª¤Áæü ç·¤ÌÙè ãô»è Ð

·¤.  wz{®® J
¹¤.  xw®® J
»¤.  vw}®® J
ƒæ¤.  z®® J

vv `¤æ´ÅU× Øæ´ç˜æ·¤è ×ð´ LCAO ·¤æ ÂêÚUæ M¤Â ãñ

·¤.  ÂÚU×æ‡æé ·¤ÿææ¥ô´ ·Ô¤ ÚUñç¹·¤ »‡æÙæ
¹¤.  âÕâð ·¤× ·Ô¤´çÎýÌ ÂÚU×æ‡æé ·¤ÿææ¥ô´
»¤.  ÂÚU×æ‡æé ·¤ÿææ¥ô´ ·Ô¤ ÚUñç¹·¤ â´ØôÁÙ
ƒæ¤.  ÂÚU×æ‡æé ·¤ÿææ¥ô´ ·¤æ âÕâð ·¤× â´ØôÁÙ

vw } ç·¤Üô ·Ô¤ °·¤ çÇŽÕð ·¤ô vw ×èÅUÚU ·¤è ª¤´¿æ§ü Ì·¤ ©ÆæØæ ÁæÌæ ãñÐ 
ÕæãÚUè ÕÜ mæÚUæ ç·¤ÌÙæ ·¤æ× ç·¤Øæ »Øæ?

·¤.  ~{® J
¹¤.  -~{® J
»¤.  ® J
ƒæ¤.  vw® J

(nucleon)



SECTION- B (CHEMISTRY)

13 “Entropy of a perfect crystalline substance at 

absolute zero is exactly equal to zero” is 

known as 

A.  The First Law of Thermodynamics 

B.  The Second Law of Thermodynamics 

C.  The Third Law of Thermodynamics 

D.  Dulong and Petit's Law 

14 Ethane (C H ) has how many sigma bonds? 2 6

A.  5

B.  6 

C.  7 

D.  8

15  A molecule of ethyne (Acetylene), HCCH, has 

how many sigma and pi bonds? 

A.  3 sigma and 3 pi 

B.  2 sigma and 2 pi 

C.  2 sigma and 3 pi 

D.  3 sigma and 2 pi 

16 Which of the following atom can not form a 

hydrogen bond? 

A.  N 

B.  O 

C.  F 

D.  I 

17 It is known that Oxygen is 16 times denser 

than the Hydrogen. How fast will the Oxygen 

diffuse in comparison to the Hydrogen? 

A.  1/16 times faster. 

B.  1/4 times faster. 

C.  4 times faster. 

D.  16 times faster. 

18 Out of the following, which bond is the 

strongest? 

A.  C=C 

B.  C=O 

C.  C=S 

D.  C=N

4.

¥ÙéÖæ»-¹ (ÚUâæØÙ çß™ææÙ)

vx ÒÒçÙÚUÂðÿæ àæê‹Ø ÂÚU °·¤ ¥æÎàæü ç·ý¤SÅUÜèØ ÂÎæÍü ·¤è °‹ÅþæÂè çÕË·¤éÜ 

àæê‹Ø ·Ô¤ ÕÚUæÕÚU ãñÓÓ §âð ç·¤â çâhæ‹Ì âð ÁæÙæ ÁæÌæ ãñ

·¤.  ª¤c×Âýßñç»·¤è ·¤æ ÂãUÜæ çâhæ‹Ì

¹¤.  ª¤c×Âýßñç»·¤è ·¤æ ÎêâÚUæ çâhæ‹Ì

»¤.  ª¤c×Âýßñç»·¤è ·¤æ ÌèâÚUæ çâhæ‹Ì

ƒæ¤.  ÎéÜô´» ¥õÚU ÂðçÅUÅU ·¤æ çâhæ‹Ì

vy §üÍðÙ (C H ) ×ð´ ç·¤ÌÙð çâ‚×æ Õ´ÏÙ ãñ´?2 6

·¤.  z
¹¤.  {
»¤.  |
ƒæ¤.  }

vz §Íæ§üÙ (°çâçÅUÜèÙ), HC≡CH ·Ô¤ °·¤ ¥‡æé ×ð´ ç·¤ÌÙð çâ‚×æ 

¥õÚU Âæ§ü Õ´ÏÙ ãñ´?

·¤.  x çâ‚×æ ¥õÚU x Âæ§ü

¹¤.  w çâ‚×æ ¥õÚU w Âæ§ü

»¤.  w çâ‚×æ ¥õÚU x Âæ§ü

ƒæ¤.  x çâ‚×æ ¥õÚU w Âæ§ü

v{ çÙ�ÙçÜç¹Ì ×ð´ âð ·¤õÙ âæ ãæ§ÇþôÁÙ Õæ´Ç Ùãè´ ÕÙæÌæ Ð

·¤.  N
¹¤.  O
»¤.  F
ƒæ¤.  I

v| Øã ™ææÌ ãñ ç·¤ ¥æò€UâèÁÙ, ãæ§ÇþôÁÙ âð v{ »éÙæ âƒæÙ ãñÐ Ìô ç·¤ÌÙè 

ÌðÁè âð ¥æò€UâèÁÙ ãæ§ÇþôÁÙ ·¤è ÌéÜÙæ ×ð´ Èñ¤Üð»è Ð

·¤.  v/v{ »éÙæ ÌðÁè âð

¹¤.  v/y »éÙæ ÌðÁè âð

»¤.  y »éÙæ ÌðÁè âð

ƒæ¤.  v{ »éÙæ ÌðÁè âð

v} çÙ�ÙçÜç¹Ì ×ð´ âð, ·¤õÙ Õ´ÏÙ âÕâð ×ÁÕêÌ ãñ?

·¤.  C = C

¹¤.  C = O

»¤.  C = S

ƒæ¤.  C = N



19 In the following four types of units of 
concentration for a solution are given. Select 
the one which changes with temperature. 

A.  Molarity 
B.  Molality 
C.  Mass percentage 
D.  Mole fraction 

20 For a certain reaction, the rate law is given by: 
2

rate = k [A] [B]
What will be the rate of this reaction if the 
concentration of A is halved and the 
concentration of B is doubled? 

A. New rate will remain the same as the 
original rate. 

B. New rate will be the double of the original 
rate. 

C. New rate will be the half of the original rate. 
D. New rate will be the triple of original rate. 

21 From the transitions given below in a 
hydrogen atom, select the one which can 
produce a photon with the highest energy? 

A.  n = 3 → n = 1 
B.  n = 4 → n = 2 
C.  n = 10 → n = 8 
D.  n = 12 → n = 10 

22 If a solution is made by adding 20 g NaOH in 
225 gm water, what will be the molality of this 
solution? 

A.  0.5 m 
B.  1.0 m 
C.  1.5 m 
D.  2.0 m 

23 Who of the following proposed the first atomic 
model? 

A.  Rutherford 
B.  Bohr 
C.  J. J. Thomson 
D.  Maxwell 

24 Although aluminium is more reactive than 
iron, aluminium is less easily corroded than 
iron. Why?

A.  Aluminium is a noble metal. 
B.  Iron easily reacts with water. 
C.  Iron form ions.
D.  In case of aluminium's reaction with air,  

           oxygen forms a protective oxide layer. 

5.

v~ çÙ�Ù âƒæÙÌæ §·¤æ§ü ×ð´ âð ·¤õÙ ÌæÂ×æÙ ·Ô¤ âæÍ ÕÎÜÌè ãñ

·¤.  ×ôÜÚUÌæ
¹¤.  ×ôÜÜÌæ
»¤.  ×æâ ÂýçÌàæÌ
ƒæ¤.  ×ôÜ ¥´àæ

w® °·¤ ÂýçÌç·ý¤Øæ ·Ô¤ çÜ° ÎÚU ·¤æÙêÙ (rate law) §â Âý·¤æÚU ãñ
2

rate = k [A] [B]
§â ÂýçÌç·ý¤Øæ ·¤è ÎÚU €UØæ ãô»è ØçÎ A ·¤è âƒæÙÌæ ¥æÏè ¥õÚU B ·¤è 

âƒæÙÌæ Îô»éÙè ãô ÁæÌè ãñ?

·¤.  Ù§ü ÎÚU ×êÜ ÎÚU ·Ô¤ M¤Â ×ð´ ãè ÚUãð»è
¹¤.  Ù§ü ÎÚU ×êÜ ÎÚU âð Îô»éÙè ãô Áæ°»è
»¤.  Ù§ü ÎÚU ×êÜ ÎÚU ·Ô¤ ¥æÏè ãô Áæ°»è
ƒæ¤.  Ù§ü ÎÚU ×êÜ ÎÚU ·¤è çÌ»éÙè ãô Áæ°»è  

wv °·¤ ãæ§ÇþôÁÙ ÂÚU×æ‡æé ×ð´ Ùè¿ð çÎ° »° ÕÎÜæß âð° °·¤ ¿éçÙ° Áô 

âÕâð ’ØæÎæ ª¤Áæü ·Ô¤ âæÍ °·¤ È¤ôÅUæÙ ·¤æ ©ˆÂæÎÙ ·¤ÚUð»æ

·¤.   n = 3 → n = 1 

¹.  n = 4 → n = 2 

»¤.  n = 10 → n = 8

ƒæ¤.  n = 12 → n = 10

ww ØçÎ w® »ýæ× NaOH ·¤ô wwz »ýæ× ÂæÙè ×ð´ ƒæôÜæ ÁæØð Ìô ƒæôÜ ·¤è 

×ôÜÜÌæ ç·¤ÌÙè ãô»èÐ

·¤.   0.5 m

¹.  1.0 m 

»¤.  1.5 m

ƒæ¤.  2.0 m

wx ç·¤âÙð âÕâð ÂãÜð ÂÚU×æ‡æé ×æòÇÜ ·¤æ ÂýSÌæß çÎØæ?

·¤.   ÚUÎÚUÈ¤ôÇü
¹.  ÕôãÚU
»¤.  Áð Áð Íæò×âÙ
ƒæ¤.  ×ñ€UâßðÜ

wy ãæÜæ´ç·¤ °ËØê×èçÙØ× Üôãð ·¤è ÌéÜÙæ ×ð´ ¥çÏ·¤ ÂýçÌç·ý¤ØæàæèÜ ãñ, 

çÈ¤ÚU Öè °ËØê×èçÙØ× Üôãð âð ·¤× â¢ÿææçÚUÌ ãUæðÌè ãñU €UØô´ç·¤

·¤.   °ËØéç×çÙØ× °·¤ çÙçc·ý¤Ø ÏæÌé ãñ
¹.  Üôãæ ÂæÙè ·Ô¤ âæÍ ¥æâæÙè âð ÂýçÌç·ý¤Øæ ·¤ÚUÌæ ãñ
»¤.  Üôãæ ¥æØÙ ÕÙæÌæ ãñ
ƒæ¤.  ãßæ ·Ô¤ âæÍ °ËØê×èçÙØ× ·¤è ÂýçÌç·ý¤Øæ ·Ô¤ ×æ×Üð ×ð´,
     ¥æò€UâèÁÙ °·¤ âéÚUÿææˆ×·¤ ¥æò€Uâæ§Ç ÂÚUÌ ÕÙæÌæ ãñU



SECTION-C (COMPUTER SCIENCE)

25 The speed of supercomputers is generally 
measured in-

(a)  Fluctuating point operations per second.
(b)  Floating point operations per second.
(c)  Fluctuations per operations per second.
(d)  Fixed point operations per second.

26  11 and IBM (8000 series) are which type 
of computers?

(a)  M nicomputers.
(b)  Microcomputers.
(c)  Mainframe computers.
(d)  Supercomputers.

27 Which of the following is correct with respect 
to memory unit of computer?

(a)  RAM and ROM are primary memory.
(b)  RAM is primary memory while ROM is
      cache memory.
(c)  RAM is cache memory while ROM is

            primary memory.
(d)  RAM and ROM are cache memory.

28 AMD and Cyrix are based on which type of 
microprocessor?

(a)  CISC.
(b)  RISC.
(c)  Hybrid of both technologies i.e. CISC and 
      RISC.
(d)  None of the above.

29 Apple Mac G3 and PowerPC are based on 
which type of microprocessor?

(a)  CISC.
(b)  RISC.
(c)  Hybrid of both technologies i.e. CISC and 
      RISC.
(d)  None of the above.

30 Anthlon XP and Pentium IV are based on 
which type of microprocessor?
(a)  CISC.
(b)  RISC.
(c)  Hybrid of both technologies i.e. CISC and 
      RISC.
(d)  None of the above.

PDP

i

6.

¥ÙéÖæ»-» (·¤�ÂØêÅUÚU âæ§¢â)

wz âéÂÚU ·¤´ŒØêÅUÚU ·¤è »çÌ ¥æ× ÌõÚU ÂÚU ×æÂè ÁæÌè ãñ -

w{  vv ¥õÚU ¥æ§üÕè°× (}®®® Ÿæë´¹Üæ) ·¤æ ·¤´ŒØêÅUÚU ç·¤â Âý·¤æÚU 
·Ô¤ ·¤´ŒØêÅUÚU ãñ´

w| çÙ�Ù ×ð´ âð ·¤õÙ ·¤´ŒØêÅUÚU ·¤è S×ëçÌ §·¤æ§ü ·Ô¤ â´Õ´Ï ×ð´ âãè ãñ

w} °°×Çè  ¥õÚU  ç·¤â Âý·¤æÚU ·Ô¤ ×æ§·ý¤ôÂýôâðâÚU ÂÚU 

¥æÏæçÚUÌ  ãñ´

w~ °ŒÂÜ ×ñ·¤ Áè x  ¥õÚU  ç·¤â 

Âý·¤æÚU ·Ô¤ ×æ§·ý¤ôÂýôâðâÚU ÂÚU ¥æÏæçÚUÌ ãñ´

x® ¥õÚU Âð´çÅUØ× ¿ÌéÍü  ç·¤â Âý·¤æÚU ·Ô¤ 
×æ§·ý¤ôÂýôâðâÚU ÂÚU ¥æÏæçÚUÌ ãñ´

·¤.   ÂýçÌ âð·¤´Ç ¥çSÍÚU çÕ‹Îé ¥æÂÚUðàæÙô´Ð

¹.  ÂýçÌ âð·¤´Ç ¿Ü çÕ‹Îé ¥æÂÚUðàæÙô´

»¤.  ÂýçÌ âð·¤´Ç â´¿æÜÙ ÂýçÌ ©ÌæÚU ¿É¸æßÐ

ƒæ¤.  ÂýçÌ âð·¤´Ç çÙØÌ çÕ‹Îé ¥æÂÚUðàæÙô´Ð

PDP

?

·¤.   ç×çÙ ·¤´ŒØêÅUÚU

¹.  ×æ§·ý¤æð ·¤´ŒØêÅUÚU

»¤.  ×ðÙÈýð¤× ·¤´ŒØêÅUÚ

ƒæ¤.  âéÂÚU ·¤´ŒØêÅUÚU

?

·¤.   RAM ¥õÚ ROM ÂýæÍç×·¤ S×ëçÌ ãñ´Ð

¹.  RAM ÂýæÍç×·¤ S×ëçÌ ÁÕç·¤ ROM ·ñ¤àæ S×ëçÌ ãñUÐ

»¤.  RAM ·ñ¤àæ S×ëçÌ ÁÕç·¤ ROM ÂýæÍç×·¤ S×ëçÌ ãñUÐ

ƒæ¤.  RAM ¥æñÚU ROM ·ñ¤àæ S×ëçÌ ãñUÐ

(AMD) Cyrix

·¤.  CSIC

¹.  RSIC

»¤.  ÎæðÙæð´ Âýæñlæðç»ç·¤Øæð´ ¥ÍæüÌ÷ CSIC ¥æñÚU RSIC ·¤è ãUæ§çÕýÇUÐ 

ƒæ¤.  ª¤ÂÚU âð ·¤æð§ü ÙãUè´Ð

(Apple Mac G3) Power PC

·¤.  CSIC

¹.  RSIC

»¤.  ÎæðÙæð´ Âýæñlæðç»ç·¤Øæð´ ¥ÍæüÌ÷ CSIC ¥æñÚU RSIC ·¤è ãUæ§çÕýÇUÐ 

ƒæ¤.  ª¤ÂÚU âð ·¤æð§ü ÙãUè´Ð

Anthlon XP (Pentium 4)

·¤.  CSIC

¹.  RSIC

»¤.  ÎæðÙæð´ Âýæñlæðç»ç·¤Øæð´ ¥ÍæüÌ÷ CSIC ¥æñÚU RSIC ·¤è ãUæ§çÕýÇUÐ 

ƒæ¤.  ª¤ÂÚU âð ·¤æð§ü ÙãUè´Ð



31 A monitor and keyboards together are known 
as -

(a)  Various Deferential Task.
(b)  Visual Display Terminal.
(c)  Various Display Terms.
(d)  Visual Departmental Terminal.

32 EBCDIC is one of the commonly used binary 
coding scheme. What is the full of the 
abbreviation, EBCDIC in this context ?

(a) Extended Binary Computer display 
Integrated Complexity.

(b) Elaborated Beneath Complex Display 
Integrated Computer.

(c) Extended Binary Coded Decimal 
Interchange Code.

(d) Evaluated Binary Computer Differential 
Integrated Code.

33 ASCII-8 code represents how many symbols?

(a)  256
(b)  500
(c)  1048
(d)  720

34 Unicode binary coding scheme uses how may 
bits to represent a symbol in the data ?

(a)  8
(b)  32
(c)  64
(d)  100

35 EBCDIC binary coding scheme allows how 
many combinations of bits

8
(a)  2  = 256 combinations of bit.

10(b)  2 = 1024 combinations of bit.
12

(c)  2 = 4096 combinations of bit.
20

(d)  2 = 1048576 combinations of bit.

36 The COBOL, C, Fortran, Pascal, C++, Java 
considered as which generation of 
programming language?

(a)  first generation.
(b)  second generation.
(c)  third generation.
(d)  fourth generation.

(VDT)

7.

xv çÙ�Ù âð ×æòçÙÅUÚU ¥õÚU ·¤èÕôÇü ·¤ô °·¤ âæÍ ÁæÙæ ÁæÌæ ãñ .

xw  ¥æ×ÌõÚU ÂÚU §SÌð×æÜ ç·¤Øæ ÁæÙð ßæÜæ Õæ§ÙÚUè ·¤ôçÇ´» 
ØôÁÙæ ·¤æ â´çÿæ# M¤Â ãñ §â·¤æ çßSÌæçÚUÌ M¤Â çÙ�Ù ×ð´ âð ·¤õÙ ãñ?

xx ¥æS·¤è ·¤ôÇ -}  ç·¤ÌÙð ÂýÌè·¤ô´ ·¤æ ÂýçÌçÙçÏˆß ·¤ÚUÌæ 
ãñ?

xy ØêçÙ·¤ôÇ Õæ§ÙÚUè ·¤ôçÇ´» ØôÁÙæ ÇðÅUæ ×ð´ °·¤ ÂýÌè·¤ ·¤æ ÂýçÌçÙçÏˆß 
·¤ÚUÙð ·Ô¤ çÜ° ç·¤ÌÙð çÕÅU÷â ·¤æ ÂýØô» ·¤ÚUÌæ ãñ?

xz  Õæ§ÙÚUè ·¤ôçÇ´» ØôÁÙæ çÕÅU÷â ·Ô¤ ç·¤ÌÙð â´ØôÁÙô´ ·¤è 
¥Ùé×çÌ ÎðÌè ãñ

x{ ·¤ôÕôÜ, âè, È¤ôÚUÅþæÙ, ÂæS·¤Ü, âè++, Áæßæ Âýô»ýæç×´» Öæáæ ·¤è 
ç·¤â ÂèÉ¸è ×æÙæ ÁæÌæ ãñ?

(VDT) 

·¤.   çßçÖ‹Ù ¥æÎÚUâê¿·¤ ÅUæS·¤Ð
¹.  ÎëàØ ÂýÎàæüÙ ÅUç×üÙÜÐ
»¤.  çßçÖóæ ÂýÎàæüÙ àæÌðZÐ
ƒæ¤.  ÎëàØ çßÖæ»èØ ÅUç×üÙÜÐ

EBCDIC

·¤.   çßSÌæçÚUÌ Õæ§ÙÚUè ·¤´ŒØêÅUÚU ·¤æ ÂýÎàæüÙ °·¤è·¤ëÌ ÁçÅUÜÌæÐ
¹.  ÁçÅUÜ ÂýÎàæüÙ °·¤è·¤ëÌ ·¤´ŒØêÅUÚU ·Ô¤ Ùè¿ð âçßSÌæÚUÐ
»¤.  çßSÌæçÚUÌ çm¥æÏæÚUè ·¤ôçÇÌ Îàæ×Üß §´ÅUÚU¿ð´Á ·¤ôÇÐ
ƒæ¤.   ×êËØæ´·¤Ù Õæ§ÙÚUè ·¤�ŒØêÅUÚU ¥´ÌÚU °·¤è·¤ëÌ ·¤ôÇÐ

(ASCII-8)

·¤.   wz{
¹.  z®®
»¤.  v®y}
ƒæ¤.   |w®

·¤.  } 
¹.  xw
»¤.  {y
ƒæ¤.   v®®

EBCDIC

8·¤.  2  = 256 çÕÅU â´ØôÁÙ
10¹.  2 = 1024 çÕÅU â´ØôÁÙ
12»¤.  2 = 4096 çÕÅU â´ØôÁÙ
20ƒæ¤.  2 = 1048576 çÕÅU â´ØôÁÙ

·¤.  ÂãÜè ÂèÉ¸èÐ
¹.  ÎêâÚUè ÂèÉ¸èÐ
»¤.  ÌèâÚUè ÂèÉ¸èÐ
ƒæ¤.  ¿õÍè ÂèÉ¸èÐ



SECTION-D (MATHEMATICS)

37 sin(45°+α) =?

A.  sinα+cosα

B.  sinα-cosα

C.  1/√(2)(sinα+cosα)

D.  None of Above

38 Point in parabola where it passes through y-

axis is classified as

A.  a-intercept of parabola

B.  c-intercept of parabola

C.  x-intercept of parabola

D.  y-intercept of parabola

2 339 2x  -3x + 4/(x+1)  =?

2 3
A.  2/(x-1) - 7/(x-1)  + 9/(x-1)

2 3
B.  2/(x-1) - 7/(x+1)  + 9/(x+1)

2 3C.  2/(x+1) - 7/(x+1)  + 9/(x+1)
2 3D.  2/(x+1) - 7/(x+1)  + 9/(x-1)

2 340 Partial fraction of 2x  -3x +4/(x-1)  will be of 

form

2 3
A.  Ax+B/(x-1) +C/(x-1)  +D/(x-1)

2 3
B.  A/(x-1) +bx + c/(x-1)  +D/(x-1)

2 3
C.  A/(x-1) +B/(x-1)  +C/(x-1)

D.  None of Above

41 If ƒ(x) = √(2cos(2πsin(x))),then ƒ(π/2) =

A.  −1

B.  0

C.  1

D.  √(2)

42 (A ∪ B) ∪ C =

A.  A ∩ (B ∪ C )

B.  A ∪ (B ∪ C )

C.  π

D.  None of Above

8.

¥ÙéÖæ»-ƒæ (»ç‡æÌ)

x| sin(45°+α) =?

·¤.  sinα+cosα

¹.  sinα-cosα

»¤.  1/√(2)(sinα+cosα)

ƒæ¤.  

·¤.  ÂÚUßÜØ ·¤æ °-¥ßÚUôÏÙ

¹.  ÂÚUßÜØ ·¤æ âè-¥ßÚUôÏÙ

»¤.  ÂÚUßÜØ ·¤æ °€Uâ-¥ßÚUôÏÙ

ƒæ¤.  ÂÚUßÜØ ·¤æ ßæ§ü-¥ßÚUôÏÙ 

2 3
2x  -3x + 4/(x+1)  = ?

2 3·¤.  2/(x-1) - 7/(x-1)  + 9/(x-1)
2 3¹.  2/(x-1) - 7/(x+1)  + 9/(x+1)
2 3»¤.  2/(x+1) - 7/(x+1)  + 9/(x+1)
2 3ƒæ¤.  2/(x+1) - 7/(x+1)  + 9/(x-1)

2 3
2x  -3x +4/(x-1)

2 3·¤.  Ax+B/(x-1) +C/(x-1)  +D/(x-1)
2 3¹.  A/(x-1) +bx + c/(x-1)  +D/(x-1)

2 3»¤.  A/(x-1) +B/(x-1)  +C/(x-1)

ƒæ¤.  ª¤ÂÚU âð ·¤ô§ü Ùãè´

ƒ(x) = √(2cos(2πsin(x))), ƒ(π/2) =

·¤.  −1

¹.  0

»¤.  1

ƒæ¤.  √(2)

(A ∪ B) ∪ C =

·¤.  A ∩ (B ∪ C )

¹.  A ∪ (B ∪ C )

»¤.  π

ƒæ¤.  ª¤ÂÚU âð ·¤ô§ü Ùãè´

ª¤ÂÚU âð ·¤ô§ü Ùãè´

x} ÂÚUßÜØ ÂÚU °·¤ çÕ´Îé Áô ßæ§ü. ¥ÿæ ·Ô¤ ×æŠØ× âð »éÁÚUÌæ  ãô  çÙ�Ù 

M¤Â ×ð´ ß»èü·¤ëÌ ç·¤Øæ ÁæÌæ ãñ

x~

y®   ·¤æ ¥æ´çàæ·¤ ¥´àæ ãô»æ

yv ¥»ÚU  Ìô 

yw



2
43 Solution of a quadratic equation x + 5x - 6 = 

0

A.  x = -1, x = 6
B.  x = 1, x = - 6
C.  x = 1
D.  x = 6

44 Quadratic function parabola graph is concave 
down if

A.  a < 0
B.  b < 0
C.  c < 0
D.  a = 0

45 Sketch of quadratic function parabola can be 
drawn easily because of predetermined 
factors which includes

A.  concavity
B.  a and y intercept
C.  vertex of parabola
D.  all of above

46 By solving , when value of 'a' is -3 and 
value of , answer should be

A.  26
B.  -10
C.  10
D.  -26

6
47 P  is equal to4

A.  36
B.  360
C.  6
D.  4

48 Every even integer is also

A.  Natural number
B.  Irrational number
C.  Rational number
D.  Whole number

22a -4b
'b' is -2

9.

yx °·¤ çmƒææÌ â×è·¤ÚU‡æ  ·¤æ â×æÏæÙ ãô»æ

yy çmƒææÌ â×æÚUôã ÂÚUßÜØ »ýæÈ  Ùè¿ð ¥ßÌÜ ãô»æ ØçÎ

yz ç·¤Ù Âêßü çÙÏæüçÚUÌ ·¤æÚU·¤ô´ ·Ô¤ ·¤æÚU‡æ çmƒææÌ â×æÚUôã ÂÚUßÜØ ·Ô¤ 
S·Ô¤¿ ·¤ô ¥æâæÙè âð ÌñØæÚU ç·¤Øæ Áæ â·¤Ìæ ãñ ?

y{ ·¤ô âéÜÛææÙð ÂÚU ÁÕ  ¥õÚU  ãô Ìô ÁßæÕ ãôÙæ 
¿æçã°

y| ·Ô¤ ÕÚUæÕÚU ãñ

y} ÂýˆØð·¤ â× Âê‡ææZ·¤ Öè ãñÑ

2
x + 5x - 6 = 0

·¤.  x = -1, x = 6

¹.  x = 1, x = - 6

»¤.  x = 1

ƒæ¤.  x = 6

·¤.  a < 0

¹.  b < 0

».  c < 0

ƒæ.  a = 0

·¤.  ¥ßÌÜÌæ
¹.  °-¥õÚU ßæ§ü-¥ßÚUôÏÙ
».  ÂÚUßÜØ ·Ô¤ çàæ¹ÚU
ƒæ.  ª¤ÂÚU ·Ô¤ âÖè

22a -4b a = -3 b = -2

·¤.  w{
¹.  -v®
».  v®
ƒæ.  -w{

6P4 

·¤.  x{
¹.  x{®
».  {
ƒæ.  y

·¤.  Âýæ·¤ëçÌ·¤ â´�Øæ
¹.  ¥ÂçÚU×ðØ â´�Øæ
».  Ì·¤üâ´»Ì â´�Øæ
ƒæ.  Âê‡æü â´�Øæ



SECTION-E (BIOLOGY)

49 Which of the following is found in 

.

a.  Nervous system

b.  Excretory system

c.  Respiratory system

d.  System of internal skeleton

50  pathway produces two 

...................... building blocks

a.  three-carbon

b.  four-carbon

c.  five-carbon

d.  six-carbon

51 The amino acid which has highest catalytic 

propensity among residues interacting via 

their   main chain groups is

a.  Histidine

b.  Glycine

c.  Glutamate

d.  Proline

52 Variation among individuals because of 

difference in only a single base is known as 

a.  

b.   

c.   

d.   

53 In the  cell division, daughter cell will 

have 

a.  Identical organelles 

b.  Identical cytoplasmic constitution 

c.  Identical genetic constitution 

d.  Identical cell size 

54 The  found in all living organisms is 

a.  Right handed 

b.  Left handed 

c.  Z-DNA 

d.  Equal mixture of Right handed DNA and Z

     DNA

echinoderms

Mevalonate

ESTs 

SNPs

Contigs

Transversions

mitotic

DNA

10.

¥ÙéÖæ»-¾  (Áèß çß™ææÙ)

(echinoderms)

·¤.  Ì´ç˜æ·¤æ Ì´˜æ
¹.  ©ˆâÁüÙ Ì´˜æ
»¤.  EâÙ Âý‡ææÜè
ƒæ¤.  ¥æ´ÌçÚU·¤ ·¤´·¤æÜ ·¤è Âý‡ææÜè

(Mevalonate)

·¤.  ÌèÙ.·¤æÕüÙ
¹.  ¿æÚU ·¤æÕüÙ
»¤.  Âæ´¿ ·¤æÕüÙ
ƒæ¤.  Àã ·¤æÕüÙ

·¤.  çãçSÅUÇèÙ
¹.  ‚Üæ§çâÙ
»¤.  ‚ÜêÅUæ×ðÅU
ƒæ¤.  ÂýôÜæ§Ù

·¤.  ESTs (§ °â ÅUè)
¹.  SNPs (°â °Ù Âè)
»¤.  Contigs (·¤æòç‹ÅU»)
ƒæ¤.  Transversions (Åþæ´âßðçâü¥ô‹â)

(mitotic)

·¤.  â×æÙ ¥´»
¹.  â×æÙ ·¤ôçàæ·¤æ ÎýÃØ ÕÙæßÅU
»¤.  â×æÙ ¥æÙéß´çàæ·¤ ÕÙæßÅU
ƒæ¤.  â×æÙ ·¤ôçàæ·¤æ ¥æ·¤æÚU 

(DNA)

·¤.  ÎæØæ´ ãæÍ
¹.  ÕæØæ´ ãæÍ
»¤.  ÁðÇ- Çè°Ù°
ƒæ¤.  ÎæØæ´ ãæÍ Çè°Ù° ¥õÚU ÁðÇ-Çè°Ù° ·¤æ °·¤ â×æÙ ç×Ÿæ‡æ

y~ çÙ�Ù ×ð´ âð ·¤õÙ âæ °ç¿ÙôÇ×üâ  ×ð´ ÂæØæ ÁæÌæ 
ãñÐ

z® ×ðßæÜô´ÙÌð  ×æ»ü Îæð ............................. 
§×æÚUÌ ŽÜæò·¤ô´ ·¤æ ©ˆÂæÎÙ ·¤ÚUÌæ ãñ

zv °ç×Ùô °çâÇ Áô ×é�Ø Ÿæë´¹Üæ â×êãô´ ·Ô¤ ×æŠØ× âð ¥ßàæðáô´ ·Ô¤ Õè¿ 
âÕâð ¥çÏ·¤ ©ˆÂýðÚU·¤ Âýßëçžæ ·¤æ ãñ

zw ·Ô¤ßÜ °·¤ ãè ÿææÚU ×ð´ ¥´ÌÚU ·¤è ßÁã âð ÃØç€ÌØô´ ·Ô¤ Õè¿ ÕÎÜæß ·Ô¤ 
M¤Â ×ð´ ÁæÙæ ÁæÌæ ãñ

zx ×æ§ÅUæçÅU·¤¤  ·¤ôçàæ·¤æ çßÖæÁÙ ×ð´° Ù§ü ·¤ôçàæ·¤æ ×ð´ Öè 
ãô»è Ñ

zy âÖè Áèßô´ ×ð´ ÂæØæ ÁæÙð ßæÜæ Çè°Ù°  ãôÌæ ãñ



55 The chemical bond that joins sugar ring to the 
nucleotide base 

a.  Peptide bond
b.  Glycosidic bond 
c.  Covalent bond
d.  Polar covalent bond

56 The number of bases in one turn of DNA helix 
is

a.  12 bases / turn in -DNA
b.  10.5 bases / turn in B-DNA
c.  Both of the above represent true
d.  100 bases / turn

57  group in cytosine is prone to 

a.   damage
b.   attack
c.  Uncontrolled 
d.  None of the above

58 If aa mates with Aa then what will be the 
phenotype of the offspring? Where, "a" 
denotes recessive and "A" for dominant trait.

a.  75% recessive
b.  50% recessive
c.  25% recessive
d.  All dominant.

59 Which of the following is the genome editing 
technology?

a.  CRISPR/Cas9
b.  ICPMS
c.  GC-MS
d.  HPLC

60 Which of the following is not a DNA 
sequencing technology

a.  Sanger sequencing
b.   sequencing
c.  Oxford 
d.  

Z

–NH2

Oxidative
Hydrolytic

alkylation

Illumina
Nanopore

NMR

11.

zz ÚUæâæØçÙ·¤ Õ´ÏÙ ·¤æ Ùæ× Áô ‹Øêç€UÜØôÅUæ§Ç ¥õÚ àæ·¤üÚUæ ·¤ô ÁôÇ¸UÌæ 
ãñ

z{ Çè°Ù° ãðçÜ€Uâ ·Ô¤ °·¤ ×ôÇ¸U ×ð´ ÿææÚUô´ ·¤è â´�Øæ

z| âæ§ÅUôçâÙ ×ð´  â×êã ·¤è €UØæ â´ÖæßÙæ ãôÌè ãñ

z} ØçÎ  ¥õÚU  ¥æÂâ ×ð´ ÁôÇ¸Uæ ÕÙæ°´ Ìô §Ùâð ©ˆÂóæ â‹ÌæÙæð¢ ·¤æ 
È¤èÙæðÅUæ§Â €Øæ ãUæð»æ?

z~ çÙ�ÙçÜç¹Ì ×ð´ âð ·¤õÙ âè ÁèÙô× â´ÂæÎÙ Âýõlôç»·¤è ãñ?

{® çÙ�Ù ×ð´ âð ·¤õÙ âæ Çè°Ù° ¥Ùé·ý¤×‡æ Ì·¤Ùè·¤ Ùãè´ ãñ

·¤.  ÂðŒÅUæ§Ç Õ´ÏÙ
¹.  »Üè·¤æòçâçÇ·¤ Õ´ÏÙ
»¤.  âãâ´ØôÁ·¤ Õ´ÏÙ
ƒæ¤.  ÏýéßèØ âãâ´ØôÁ·¤ Õ´ÏÙ

·¤.  Z- Çè°Ù° ×ð´ vw ÿææÚU ÂýçÌ ×æðÇ¸U
¹.  B- Çè°Ù° ×ð´ v®.z ÿææÚU ÂýçÌ ×æðÇ¸U
»¤.  ª¤ÂÚU ·ð¤ ÎæðÙæð´
ƒæ¤.  v®® ÿææÚU/×æðÇ¸U

–NH2

·¤.  ¥æò€UâèÇðçÅUß (Oxidative) Ùé·¤âæÙ
¹.  ãñÇþôÜØçÅU·¤ (Hydrolytic) ã×Üæ
»¤.  ¥çÙØ´ç˜æÌ ¥Ë€UØÜàæÙ (alkylation)

ƒæ¤.  ©UÂÚUæð€Ì ×ð¢ âð ·¤æð§ü Öè

aa Aa

·¤.  |z' ¥ÂýÖæßè
¹.  z®' ¥ÂýÖæßè
»¤.  wz' ¥ÂýÖæßè
ƒæ¤.  âÖè ÂýÖæßè

·¤.  CRISPR/Cas9

¹.  ICPMS

»¤.  GC-MS

ƒæ¤.  HPLC

·¤.  âð´»ÚU ¥Ùé·ý¤×‡æ
¹.  §„éç×Ùæ (Illumina) ¥Ùé·ý¤×‡æ
»¤.  ¥æò€UâÈ¤ôÇü  ÙÙôÂôÚU (Nanopore)

ƒæ¤.  °Ù°×¥æÚU (NMR)
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SPACE FOR ROUGH WORK
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